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LOGARITMOS 

Problema 82: 

Resolver la siguiente ecuación 

log 2 + log (11 − 𝑥ଶ)

log (5 − x)
= 2 

Solución Problema 82:  

log 2 + log (11 − 𝑥ଶ)

log (5 − x)
= 2 

log[2 · (11 − 𝑥ଶ)] 

log (5 − x)
= 2 

log[2 · (11 − 𝑥ଶ)] = 2log (5 − x) 

log[2 · (11 − 𝑥ଶ)] = log (5 − x)ଶ 

[2 · (11 − 𝑥ଶ)] = (5 − x)ଶ  

22 − 2𝑥ଶ = 25 + 𝑥ଶ − 10x 

3𝑥ଶ − 10x + 3 = 0 

𝑥 =
10 ± √100 − 36

6
=

10 ± √64

6
=

10 ± 8

6
  

𝑥ଵ =
10 + 8

6
= 3   𝑠𝑜𝑙𝑢𝑐𝑖ó𝑛 𝑣á𝑙𝑖𝑑𝑎 

𝑥ଶ =
10 − 8

6
=

1

3
  𝑠𝑜𝑙𝑢𝑐𝑖ó𝑛 𝑣á𝑙𝑖𝑑𝑎 

 

 

  

 

 


